Standard Start and Spectral Decomposition theorem  
Plan
• Spectral Decomposition theorem
[ Complex eigen values and complex eigenvectors]
• Generalisation of 3d product 
$$\rightarrow$$
 Inner product  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of solutions for lineor systems  
• Determinant, Ronk  $\rightarrow$  Existence of  $(A - \lambda T)$   
=  $(2 - \lambda)(1 - \lambda) + 3$   
Solution of  $\mathcal{T}_A(\lambda) = 0$  are  
 $2 + \lambda^2 - 3\lambda + 3 = 0 \Rightarrow \lambda^2 - 3\lambda + 5 = 0$   
 $\lambda = \frac{3 \pm \sqrt{-11}}{2}$   
Two eight values:  $\lambda_1 = 3 \pm \sqrt{-11}$   
 $\lambda_2 = 3 - \sqrt{-1}$   
Let us calculate the associated eigenvectors:  
 $Core 1 \cdot \lambda_1 = \frac{3 \pm \sqrt{-11}}{2}$   
Supple that  $v_1 = (2 - q_1)^T$  is an eigenvector corresponding to  $\lambda_1$ .  
Then  $Av_1 = \lambda_{19}$   
 $\begin{bmatrix} 2 & -1 & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 2 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 3 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\ 2 & 1 & 3 \end{bmatrix} \begin{bmatrix} n & 1 & 3 \\$ 

$$\Rightarrow 2n - 2 - (2 + \frac{1}{2})n = 0 \longrightarrow (1)$$

$$3n + 2 - (3 + \frac{1}{2})n = 0 \longrightarrow (2)$$

$$2(3n - 2) - 3n - \sqrt{-1}(n = 0)$$

$$\Rightarrow 2 - \sqrt{-1}(n - 2) = 0$$

$$\Rightarrow 2 - \sqrt{-1}(n - 2) = 0$$

$$\Rightarrow 3 = \frac{n}{2}(1 - \sqrt{-1}) \longrightarrow (3)$$

$$2(3n + 2) - (3 + \sqrt{-1})n = 0$$

$$\Rightarrow n = \frac{1}{2}(1 + \sqrt{-1}) \longrightarrow (3)$$

$$(3 - 2) + 6n - \sqrt{-1}n = 0$$

$$\Rightarrow n = \frac{1}{2}(1 + \sqrt{-1}) \longrightarrow (4)$$

$$(3 - 2) + 6n - \sqrt{-1}n = 0$$

$$\Rightarrow n = \frac{1}{2}(1 + \sqrt{-1}) \longrightarrow (4)$$

$$(3 - 2) + 6n - \sqrt{-1}n = 0$$

$$\Rightarrow n = \frac{1}{2}(1 + \sqrt{-1}) \longrightarrow (4)$$

$$(3 - 2) + 6n - \sqrt{-1}n = 0$$

$$\Rightarrow n = \frac{1}{2}(1 + \sqrt{-1}) \longrightarrow (4)$$

$$(1 - \sqrt{-1}) + \frac{1 - \sqrt{-1}}{2} \longrightarrow (1 - \sqrt{-1})$$

$$(1 - \sqrt{-1}) + \frac{1 - \sqrt{-1}}{2} \longrightarrow (1 - \sqrt{-1})$$

$$= (1 + \sqrt{-1}) + 2 + (1 - \sqrt{-1}) \longrightarrow (1 - \sqrt{-1})$$

$$= (1 + \sqrt{-1}) + 2 + (1 - \sqrt{-1}) \longrightarrow (1 - \sqrt{-1})$$

$$= (1 + \sqrt{-1}) + 2 + (1 - \sqrt{-1}) \longrightarrow (1 - \sqrt{-1})$$

$$= (1 + \sqrt{-1}) = 0$$

$$= (1 + \sqrt{-1}) = (1 + \sqrt{-1})$$

$$= (1 + \sqrt{-1$$

$$\begin{split} & \nabla_{\Sigma} = \nabla_{1} = \begin{bmatrix} 1 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix} \\ & F_{1}gnspa(a = E(\lambda_{2}) = \begin{cases} 3 \begin{bmatrix} 1 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2}) = \begin{cases} 3 \begin{bmatrix} 1 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \begin{bmatrix} 1 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \begin{bmatrix} 1 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \begin{cases} 3 \\ \frac{1+\sqrt{-11}}{2} \end{bmatrix}; 3 \in C \end{cases} \\ & F_{2}gnspa(a = E(\lambda_{2})) = \\ & F_{2}gnspa(a = E(\lambda_{$$

 $3n + q - \lambda q = 0 \rightarrow 6$ 

 $(3): 3n + (1-\lambda)y = 0$ 

 $\hat{v}_{l} = \begin{pmatrix} \frac{\lambda_{l}-l}{3} \\ l \end{pmatrix}$ 

 $v_{l} = \begin{pmatrix} l \\ 2 - \lambda_{l} \end{pmatrix}$ 

 $(3:(2-\lambda)\eta - \eta = 0)$ 

$$v_{2} = \begin{pmatrix} 1 \\ \lambda - \lambda_{2} \end{pmatrix} \qquad v_{2}^{2} = \begin{pmatrix} \frac{\lambda_{2} - 1}{3} \\ 1 \end{pmatrix}$$
Gunk cheek:  $\lambda_{1} = 3 \pm \frac{1 - 1}{2}$ 

$$v_{1} = \begin{pmatrix} 1 \\ 2 - \lambda_{1} \end{pmatrix}^{2} \qquad \begin{pmatrix} 1 \\ 2 - 3 \pm \frac{1 - 1}{2} \end{pmatrix}^{2} \qquad \begin{pmatrix} 1 \\ 4 - \frac{3 - 1 - 1}{2} \end{pmatrix}$$
Remark 2. Suppose that  $v_{1} = \begin{pmatrix} 1 \\ 2 - \lambda_{1} \end{pmatrix}$  is an eigen velosis
$$v_{1} = \begin{pmatrix} 1 \\ 2 - \lambda_{1} \end{pmatrix} = 0 \qquad (3)$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(2 - \lambda_{1}) = (2 - \lambda_{1}) = 0$$

$$\sqrt{30 + (1 - \lambda_{1})} = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$\sqrt{30 + (1 - \lambda_{1})} = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$\sqrt{30 + (1 - \lambda_{1})} = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(2 - \lambda_{1}) - (2 - \lambda_{1}) = 0$$

$$(2 - \lambda_{1}) = 0 \qquad (3)$$

$$(3 - 1)$$

$$(4 - 3) = 0 \qquad (3)$$

$$(4 - 3) = 0 \qquad (3)$$

$$(4 - 3) = 0 \qquad (3)$$

$$(5 - 3) = 0 \qquad (3)$$

$$($$

Probable of 
$$\chi_{k}(n) = 0$$
 are  
 $(1-n) \left( (1-n)^{2}+1 \right) = 0 \Rightarrow \lambda_{1} = 1$   
 $(1-n)^{2} = -1 \Rightarrow 1-\lambda = \pm 1$   
 $\lambda_{2} = 1+1$   
 $0_{3} = 1-1$   
Figure to conception due,  $5 = \lambda_{1} = 4$   
 $(A - \lambda_{1}I) \begin{pmatrix} q \\ q \\ q \\ q \end{pmatrix} = \vec{0}$   
 $\lambda_{1} = 1$   
 $k-1 = \begin{pmatrix} 1 & 1-1 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{pmatrix} - \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$   
 $= \begin{pmatrix} 0 & 1 & -1 \\ 0 & 0 & 0 \\ 1 & 0 & 1 \end{pmatrix}$   
 $= \begin{pmatrix} 0 & 1 & -1 \\ 0 & 0 & 0 \\ 1 & 0 & 1 \end{pmatrix}$   
 $= \begin{pmatrix} 0 & 1 & -1 \\ 0 & 0 & 0 \\ 1 & 0 & 1 \end{pmatrix}$   
 $R_{1} \leftrightarrow R_{3}$   
 $\equiv \begin{pmatrix} 11 & 0 & 0 \\ 0 & 0 & 0 \\ 1 & 0 & 0 \end{pmatrix}$   
 $R_{1} \leftarrow R_{3}$   
 $\equiv \begin{pmatrix} 11 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 1 & -1 \end{pmatrix}$   
 $R_{2} \leftarrow R_{3}$   
 $\equiv \begin{pmatrix} 11 & 0 & 0 \\ 0 & 1 & -1 \\ 0 & 0 & 0 \end{pmatrix}$   
 $\Psi_{1} = \begin{bmatrix} 0 \\ q \\ q \end{bmatrix} = q \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix}$   
Figur space  $E(\lambda_{1}) = \begin{cases} q \begin{bmatrix} 0 \\ 1 \\ 1 \end{bmatrix} : q \in C \end{cases}$ 

